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Paper III

Time : Three Hours ]  [Maximum Marks : 80

uksV % izR;sd bdkbZ esa izR;sd iz'u dk Hkkx A ,oa B ^vfry?kq 

mÙkjh; iz'u* gSa] ftuds mÙkj ,d ;k nks okD;ksa esa nhft,A 

izR;sd iz'u ds Hkkx C ^y?kq mÙkjh; iz'u* o Hkkx D ^nh?kZ 

mÙkjh; iz'u* ds mÙkj funsZ'kkuqlkj 'kCn lhek esa fn;s tk,¡A

Note : Part A and B of each question in each unit consist 
of ‘very short answer type questions’ which are 
to be answered in one or two sentences. Part C 
‘Short answer type’ and D ‘Long answer type’ 
of each question should be answered within the 
word limit mentioned.

bdkbZ-I/uNIt-I

 1. (A) [;kfr ds ewY;kadu dh iwathdj.k fof/k dks le>kb,A

 2

   Describe the capitalisation method of 
Valuation of goodwill.

     P.t.O.
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  (B) va'kksa ds vkarfjd ewY; rFkk cktkj ewY; ls D;k 
vk'k; gS \ 2

   What is meant by Intrinsic value and 
market value of shares ?

  (C) ,d daiuh ds ikl `100 okys 2000 iw.kZ pqdrk 

lerk va'k rFkk `1,00,000 lap; ds Fks] us çR;sd 

ik¡p va'k ds cnys `100 okyk ,d iw.kZ pqdrk 

cksul va'k fuxZfer fd;kA cksul va'kksa dk ewY; 

Kkr dhft,A

   A company with 2000 equity shares of 
`100 each fully paid and with reserve 
amounting `1,00,000 Issue are Bonus 
share of `100 each full paid for every five 
shares held. Ascertain the value of Bonus 
shares. (word limit 200-250) 4

vFkok/OR

   ;g vuqeku gS fd ,d QeZ `80,000 dh iwath ij 

8% ykHk dek,xhA xr pkj o"kks± dk okLrfod 

vkSlr ykHk `10,000 gSA lk>snkjh lays[k ds 

vuqlkj vf/kykHk ds nks o"kZ ds Ø; ds ewY;kadu ij 

[;kfr vk¡dh tkrh gSA [;kfr dh jkf'k fudkfy,A
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			   It was estimated that the firm will every 
year make a profit of 8% on its capital of 
`80,000. The actual average profit for the 
last four years in `10,000. According to 
the partnership deed goodwill is valued 
at two years purchase of the super profit. 
Find out the amount of goodwill.

		  (D)	 va'kksa ds ewY;kadu dh fofHkUu fof/k;k¡ dkSu&lh gSa \ 
va'kksa ds ewY;kadu dh vk; fof/k dk o.kZu dhft, 
rFkk mnkgj.k nhft,A

			   What are the various method of valuation 
of shares ? Describe and illustrate the yield 
valuation method of valuation of shares ?

(word limit 400-450) 12

vFkok/OR

			   lerk va'k ,oa iwokZf/kdkj va'k dk ewY; Kkr 
dhft,µ

`
8000, 4%  iwokZf/kdkj va'k ` 100 
çfr va'k iw.kZ pqdrk

8,00,000

10000 lerk va'k ` 100 çfr va'k  

` 80 çfr va'k pqdrk 

8,00,000

vuqekfur ykHk (dj ls iwoZ) 5,00,000
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vk;dj dh nj 25%
lkekU; lap; esa vUrj.k 20%
lkekU; çR;k; nj 10%

			   Calculate the value of equity share and 
preference share :

`

8000, 4% preference shares of 
` 100 each fully paid-up

8,00,000

10000 equity shares of ` 100  
each ` 80 paid-up 

8,00,000

 Expected Profit Before Tax 5,00,000
 Income tax rate 25%
 Transfer to general reserve 20%
 Normal earning rate 10%

bdkbZ-II/unit-II

	 2.	 (A)	 ,dhdj.k ds eq[; mís';ksa dks le>kb,A� 2

			   Explain the main objects of amalgamation.

		  (B)	 fgrksa ds lewghdj.k dh fof/k dks le>kb,A� 2

			   Explain pooling of interest method.

		  (C)	 foy; dh çÏfr esa ,dhdj.k dk vFkZ le>kb,A	
Explain the meaning of amalgamation in 
the nature of merger.

� (word limit 200-250) 4
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vFkok/OR

			   vlger va'k/kkfj;ksa dks le>kb,A

			   Explain dissenting share holders.

		  (D)	 ,dhdj.k ds le; foØsrk daiuh dh iqLrdksa esa dh 
xbZ iath çfof"V;k¡ nhft,A

			   Give journal entries in the books of vendor 
at the time of amalgamation of company.

� (word limit 400-450) 12

vFkok/OR

			   v'kksdk dEiuh fy- dk 31 ekpZ] 2014 dk fpëk 
fuEukuqlkj gSµ

fooj.k fVIi.kh 

la[;k

jkf'k

`

I.	 lerk ,oa nkf;Ro
	 1.	 va'k/kkfj;ksa dk dks"k
		  (v) va'k iw¡th 1 1,20,000
		  (c) lap; o vfrjsd 2 (1,000)
	 2.	 va'k vkosnu jkf'k 

vkcaVu yafcr
Nil

	 3.	 xSj pkyw nkf;Ro Nil
	 4.	 pkyw nkf;Ro
		  O;kikfjd ns; 30,000

;ksx 1,49,000
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II.	vkfLr;k¡
	 1.	 xSj pkyw laifÙk;k¡
		  fLFkj laifÙk;k¡
		  ewrZ laifÙk;k¡ 3 1,40,000
	 2.	 pkyw laifÙk;k¡ 
(v) Lda/k 15,000
(c) O;kikfjd izkI; 20,000
(l) jksdM+ ,oa jksdM+ rqY; (26,000)

;ksx 1,49,000

			   ys[kk laca/kh fVIif.k;k¡µ

fooj.k `

1.	 va'k iwath
1200 va'k lerk ` 100 izfr va'k 1,20,000

1,20,000
2.	 lap; ,oa vfrjsd 
	 ykHk&gkfu [kkrk (1,000)

(1,000)
3.	 fLFkj lEifÙk;k¡
	 ewrZ laifÙk
	 Hkwfe Hkou 90,000
	 e'khujh 50,000

1,40,000
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4.	 jksdM+ ,oa jksdM+ rqY;
	 cSad esa jksdM+ (cSad vf/kfod"kZ) (26,000)

(26,000)

	 v'kksd daiuh fy- dk lekiu gks x;k rFkk lEifÙk;k¡ 

fd'kksjk daiuh fy- dks ` 1,47,000 esa csp nh xbZ] 

blesa ` 57,000 udn (tks ysunkjksa] vf/kfod"kZ 

rFkk ` 1000 lekiu O;; pqdkus ds fy, i;kZIr 

Fkk) vkSj ` 90,000 fd'kksjk daiuh fy- ` 10 okys 

` 7·50 çnÙk] 12,000 va'kksa ds vkcaVu }kjk v'kksd 

daiuh fy- ds va'k/kkfj;ksa dks ns; gSA

	 v'kksdk daiuh fy- dh iqLrdksa dks can djus rFkk 

fd'kksjk daiuh fy- dh iqLrdksa esa bu O;ogkjksa dk 

[kkrk djus ds fy, vko';d iath çfof"V;k¡ dhft, 

rFkk u;h daiuh dk fpëk cukb,A

			   The following is the balance sheet of 
Ashoka Company Ltd. as on 31st March,  
2014 :

Particular
Note

No.

Amount

`
I.	 Equity and Liabilities
	 1.	 Shareholers fund
     (a) Share Capital 1 1,20,000
      (b) Reserve and Surplus 2 (1,000)
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	 2.	 Share Application 

Money Panding 

Allotment

Nil

	 3.	 Non-current 

Liabilities

Nil

	 4.	 Current Liabilities
		  Trade Payable 30,000

Total 1,49,000
II.	 Assets
	 1.	 Non-current 	 	

	 Assets
		  Fixed Assets
		  Tengible Assets 3 1,40,000
	 2.	 Current Assets
(a) Stock 15,000
(b) Trade Receivable 20,000
(c) Cash or Cash Equivalents (26,000)

Total 1,49,000

		  Notes of Accounts :

Particulars `
1.	 Share capital
1200 equity share `100 each 1,20,000

1,20,000
2.	 Reserve and Surplus
	 Profit and Loss Accounts (1,000)

(1,000)
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3.	 Fixed Assets
	 Tangible Assets
	 Land and Building 90,000
	 Machinery 50,000

1,40,000
4.	 Cash and Cash Equivalents
	 Cash at bank (Bank over-

draft)

(26,000)

(26,000)

			   The company want into liquidation and 
the assets were sold to Kishora company 
Ltd. for ` 1,47,000 payable as to `57,000 
in cash (which was sufficient to discharge 
the creditors and the bank overdraft and 
pay to costs of winding-up `1000) and 
as to ` 90,000 by the allotment of 12,000 
shares of `10 each of Kishora Company 
Ltd. `7·50 per share paid up to the share-
holders at Ashoka Company Ltd.

			   Close the books of Ashoka Company Ltd. 
and give the necessary journal entries for 
recording the transactions in the books of 
Kishora Ltd. Also prepare balance sheet 
of new company. 
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bdkbZ-III/unit-III

	 3.	 (A)	 va'kksa ds leiZ.k }kjk iqu£uekZ.k dks le>kb,A� 2

			   Explain reconstruction through surrender 
of shares.

		  (B)	 iwath U;wuhdj.k ls vki D;k le>rs gSa \� 2

			   What do you understand by capital 
reductions ?

		  (C)	 vkarfjd iqu£uekZ.k ds mís'; crkb,A	
Explain the object of Internal 
reconstruction.� (word limit 200-250) 4

vFkok/OR

			   jek fy- dh fuxZfer ,oa vfHknÙk iwath `100 okys 
iw.kZ pqdrk 5000 lerk va'kksa esa foHkkftr gSA daiuh 
vius va'k/kkfj;ksa dks mudh iwath dk `10 çfr va'k 
ykSVkuk pkgrh gS vkSj çR;sd va'k `90 iw.kZ pqdrk 
djuk pkgrh gSA daiuh dh iqLrdksa esa mDr O;ogkjksa 
dks vafdr djus ds fy, iath çfof"V;k¡ nhft,A	
Ram Ltd. had issued and subscribed capital 
of 5000 equity shares of `100 each fully 
paidup. The Company decides to repay its 
equity shareholders `10 per share of their 
capital and make each share of `90 each 
fully paid-up.
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			   Journalise the above transactions in the 
books of the company.

		  (D)	 ,d vkarfjd iqu£uekZ.k ;kstuk cukrs le;  
dkSu &lh ekU;rk,¡ /;ku esa j[kuh pkfg, vkSj dkSu&ls 
vko';d dne mBkus pkfg, \ ,d mnkgj.k nsdj 
vius mÙkj dks Li"V dhft,A

			   What assumptions and steps should 
be taken in formaulating an internal 
reconstruction scheme illustrate your 
answer by taking a suitable example.

� (word limit 400-450) 12

vFkok/OR

			   31 ekpZ] 2018 dks ^,* fy- dk fpëk fuEukuqlkj 
Fkkµ

fpV~Bk

^,* fy- dk fpV~Bk 31 ekpZ] 2018 dks

fooj.k fVIi.kh 

la[;k

jkf'k

`

I.	 lerk ,oa nkf;Ro
	 1.	 va'k/kkfj;ksa dk dks"k
	 (v) va'k iw¡th 1 2,00,000
	 (c) ykHk gkfu fooj.k 	

		  i=

2 (30,000)
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	 2.	 va'k vkosnu jkf'k 

yafcr vkcaVu

Nil

	 3.	 xSj pkyw nkf;Ro 10 
½.ki=

30,000

	 4.	 pkyw nkf;Ro
		  O;kikfjd ns; 20,000

;ksx 2,20,000
II.	laifÙk;k¡
	 1.	 xSj pkyw laifÙk;k¡
		  fLFkj laifÙk;k¡
		  ewrZ laifÙk;k¡ 1,64,500
		  vewrZ laifÙk;k¡ 55,000
	 2.	 pkyw laifÙk;k¡ 
(v) pkyw fofu;ksx Nil
(c) Lda/k Nil
(l) O;kikfjd izkI; Nil
(n) jksd ,oa jksdM+ rqY; 500

;ksx 2,20,000

			   ys[kk laca/kh fVIif.k;k¡µ

fooj.k jkf'k `
1.	 va'k iwath
	 vf/kÏr va'k iwath
	 5000 12% lap;h iwokZf/kdkj 

`10 izfr va'k

50,000
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	 15000 lerk va'k ̀ 10 izfr va'k 

iw.kZ pqdrk

1,50,000

2,00,000
	fuxZfer] izk£Fkr ,oa pqdrk iwath
5000 12% lap;h iwokZf/kdkj va'k 

`10 izfr va'k pqdrk	

50,000

15000 lerk va'k `10 izfr va'k 

iw.kZ pqdrk	

1,50,000

;ksx 2,20,000
2.	 lap; ,oa vfrjsd 
	 ykHk&gkfu fooj.k i= (gkfu) (30,000)

(30,000

			   ,d iqu£uekZ.k dks uhps nh xbZ ;kstuk r; dh xbZµ

		  (i)	 ,d ubZ daiuh ^ch* fy- cukbZ xbZ ftldh vf/kÏr 

iwath `3,25,000 gS vkSj tks `10 ds lk/kkj.k va'kksa 

esa c¡Vh gqbZ gSA

	 	 (ii)	 ubZ daiuh dk ,d lk/kkj.k va'k `5 ifjnÙk iqjkus 

daiuh ds ,d lk/kkj.k va'k ds cnys esa fuxZfer 

fd;k x;kA

		  (iii)	 ubZ daiuh ds nks lk/kkj.k va'k ̀ 5 ifjnÙk iqjkus daiuh 

ds ,d iwokZf/kdkj va'k ds cnys fuxZfer fd;s x;sA
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		  (iv)	 ½.ki=/kkfj;ksa dks ubZ daiuh ls 3000 iw.kZ pqdrk 

lk/kkj.k va'k çkIr djus gSaA

		  (v)	 O;kikfjd ns; ubZ daiuh }kjk ys fy;s tk,axsA

		  (vi)	 'ks"k vfuxZfer fd;s gq, va'k lapkydksa }kjk ys fy;s 

tk,axsA ftudk os iwjk Hkqxrku djsaxsA

	 	 (vii)	 ubZ daiuh iqjkuh daiuh dh fofHkUu laifÙk;ksa dks 

`35,000 ls de djds ysxhA

			   iath çfof"V;ksa }kjk ^,* fy- dh iqLrdksa dks can 

dhft, rFkk ch- fy- dh iqLrdksa dks [kksfy,A

			   On 31st March, 2018 the balance sheet of 
‘A’ Ltd. was as follows :

Balance Sheet

(as on 31st March, 2018)

Particular Note

 No.

Amount

`

I.	 Equity and Liabilities
	 1.	 Shareholders fund
	 (a) Share Capital 1 2,00,000
	 Statement of P & L 2 (30,000)
	 2.	 Share App. Money 

Pending Allotment 

Nil

				    [ 14 ]�



Code No. : B02/316

	 3.	 Non current 

Liabilities (10% 

Debentures)

30,000

	 4.	 Current Liabilities
		  Trade Payale 20,000

Total 2,20,000
II.	 Assets
	 1.	 Non-current Assets
		  (a) Fixed Assets
	 (i) Tangible Assets 1,64,500
	 (ii) Intangible Assets 55,000
	 2.Current Assets
(a)	 Current Investments Nil
(b)	 Stocks Nil
(c)	 Trade Receivable Nil
(d)	 Cash and Cash 

Equivalents

500

Total 2,20,000

			   Notes of Account :

Particular Amount `
1.	 Share Capital
	 Authorised Capital
	 5000 12%  Cumulative 

Preference Share of `10 

Each

50,000
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	 15000 Equity Shares of ̀ 10 

Each Fully Paid

1,50,000

2,00,000
	Issued, subscribed and Paid- 
up Capital
5000 12% Cumulative 

Preference of `10 each Fully 

Paid 

50,000

15000 Equity Shares of `10 

Each Fully Paid	

1,50,000

Total 2,20,000
2.	 Reserve and Surplus 
	 Statement of Profit and 

Loss (Loss)

(30,000)

(30,000)

		  A scheme of reconstruction was agreed 
upon as follows :

	 (i)	 A new company to be formed called B Ltd. 
with an authorised capital of ̀ 3,25,000, all 
in ordinary shares of `10 each.

	 (ii)	 One ordinary share `5 paid in the need 
company to be issued for each ordinary 
share in the old company.
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	 (iii)	 Two ordinary shares `5 paid in the new 
company to be issued for each preference 
share in the old company.

	 (iv)	 Debentures holders to receive 3,000 
ordinary shares in the new company 
credited as fully paid.

	 (v)	 Trade payable to be taken over by the new 
company.

	 (vi)	 The remaining unissued shares to be taken 
-up and paid for infully by the directors.

	 (vii)	 The new company to take over the old 
company’s assets subject to writing down 
sundry assets by `35,000.

		  Close the books of A Ltd. and open the 
books of B Ltd. by means of journal 
entries.

bdkbZ-IV/unit-IV

	 4.	 (A)	 daiuh dk vfuok;Z lekiu fdu ifjfLFkfr;ksa esa gksrk 

gS \ le>kb,A� 2

			   Explain under what circumstances the 
company is compulsory liquidated ?
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		  (B)	 C;kt lfgr Ø; o foØ; C;ktjfgr Ø; o foØ; 
dks le>kb,A� 2

			   Describe cum-interest purchase and sales 
and ex-interest purchase and sales.

		  (C)	 lnL;ksa dk ,sfPNd lekiu vkSj ysunkjksa }kjk ,sfPNd 
lekiu ds chp varj dhft,A	
Differentiate between members voluntary 
winding-up and creditors voluntary 
winding-up.� (word limit 200-250) 4

vFkok/OR

			   1 twu] 2017 dks v'kksd us fd'ku ls ckVk 'kw daiuh 
ds 150, 10% ½.ki= ` 100  okys çfr ½.ki= 
` 135 dh nj ls C;kt lfgr Hkko ij [kjhnsA bu 
½.ki=ksa ij C;kt 1 ekpZ ,oa 1 flrEcj dks ns; gSA 
nksuksa i{kksa us 1% dh nj ls O;ogkj ewY; ij nykyh 
nhA

			   Øsrk v'kksd dh iqLrdksa esa mi;qZDr O;ogkjksa ds fy, 
iath çfof"V;k¡ nhft,A ys[kk iqLrdsa 31 ekpZ] dks 
can gksrh gSA

			   On 1st June, 2017 Ashok purchased from 
Kishan 150, 10% debentures of `100 
each at ` 135 cash cum-interest of Bata 
shoo company. Interest is payable on 
these debentures on 1st March and 1st 
September. Both parties paid brokerage @ 
1% on transaction value.

				    [ 18 ]�



Code No. : B02/316

			   Give Journal entries in the books of 
purchased Ashok his account books are 
closed on 31st March, every year.

		  (D)	 fofu;ksx D;k gS \ fofHkUu çdkj dh çfrHkwfr;ksa dks 

le>kb,A

			   What is Investment ? Explain the different 
types of securities.

� (word limit 400-450) 12

vFkok/OR

			   31 ekpZ] 2018 dks ,Dl çksMDV~l fyfeVsM dk 

,sfPNd lekiu gqvkA bldh lEifÙk;k¡ ,oa nkf;Ro 

fuEukuqlkj ysunkj% 

			   ns; vk;dj `1,200; nj `450 ,oa O;kikfjd 

ysunkj `7,850; `20,000 ds 5% ½.ki= ftu ij 

1tuojh vkSj tqykbZ dks Nekgh C;kt fn;k tkrk gSA 

Lda/k `20,500; O;kikfjd çkI; (fofo/k nsunkj) 

`32,000 cSad esa jksdM+ `9,400

			   Lda/k ls `18,000 vkSj nsunkjksa ls `30,000 olwy 

gq,A lekiu dh ykxr `1,200 FkhA lekid 

(fuLrkjd) dk ikfjJfed olwy gqbZ jkf'k dk 

2·5%  vkSj   `1,000  FkkA  1,000,  5%  lap;h 
				    [ 19 ]� P.T.O.
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			   iwokZfèkdkj va'k `10 iw.kZ pqdrk gS mUgsa iwath rFkk 

ykHkka'k ds fy, çkFkfedrk gSA bu ij nks o"kks± ds 

fy, ykHkka'k vof'k"V gS] 2,000, 6% vlap;h 

iwokZf/kdkj va'k `10 okys iw.kZ pqdrk gS vkSj bUgsa 

iwath ds fy, çkFkfedrk gSA 3,000 lerk va'k `10 

okys ftu ij `7·50 çfr va'k pqdk;k x;k gSA

			   ;g ekudj fd lerk va'kksa ij vko';d ;kpuk 

dh xbZ vkSj lacaf/kr jkf'k;k¡ çkIr gks xbZ gSa] lekid 

(fuLrkjd) i= vafre fooj.k [kkrk cukb,A

			   On 31st March, 2018, ‘X’ Products Ltd. 
went into voluntary liquidation and the 
assets and liabilities according to the 
books were :

			   Creditors : Income tax due `1,200; Rates ` 

450 and trade creditors ` 7,850, ` 20,000, 
5% Debentures, Interest payable half 
yearly on 1st January and 1 July. Inventory 
(stock) `20,500 Trade receivable sundry 
debtors `32,000, cash at bank ` 9,400.

			   Stock realised `18,000 and debtors 
`30,000. The liquidation costs were 
`1,200 and the liquidators remuneration 
was   agreed   at   2·5%   of   the  amounts
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			   realised plus the sum of ` 1000. 1000, 5% 
cumulative preference shares of `10 each 
fully paid having a preference as to capital 
and dividend the dividend was in arrears 
for two years) 2,000, 6% Non cumulative 
peference shares of ` 10 eachfully paid 
having preference share as to capital, 
3,000 equity shares of ` 10 each ` 7·50 
paid-up.

			   Assuming that necessary calls have been 
made on equity shares and related accounts 
have been received prepare liquidators 
final statments of Account.
     d      
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